
‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjogmR>r Cn¶wº$ àíZg§J«h

(8) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb 2023 gmbmVrb
E‘nrEggr narjoVrb àíZ

m̂J - 2

For Private Circulation Only

Study Circle Career Development Institute

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb  / 1



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb  / 2

For Private Circulation OnlyFor Private Circulation Only



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb  / 3

For Private Circulation OnlyFor Private Circulation Only



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb  / 4

For Private Circulation OnlyFor Private Circulation Only

8) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
1) n[apñW{VH$s  (2)

1) BH$mo{gñQ>‘ - D$Om© {na°{‘S>, AÞ gmIir Am{U Omio, gm{hË` MH«$
2) n`m©daUr` Ag§VwbZ, g§dY©Z, OmJ{VH$ n¶m©daU n[afXm, BAm¶E

2) O¡d{d{dYVm (2)
3) O¡d{d{dYVm - ^maVmVrb g§H$ënZm, àH$ma, dÝ`Ord Am{U dZñnVr
4) A^`maÊ ò Am{U amï´>r` CÚmZo, ì`mK« àH$ën, n`m©daU H$m`Xo

3) hdm‘mZ ~Xb (2)
5) ½bmo~b dm°{‘ªJ - h[aVJ¥h n[aUm‘m‘Ü ò grAmoQy> Am{U {‘WoZMr ̂ y{‘H$m

6) àXyfU - hdm, nmUr, ‘mVr, ÜdZr. H$Mam ì`dñWmnZ, e‘Z Cnm`

1) n[apñW{VH$s  (2)
1) BH$mo{gñQ>‘ - D$Om© {na°{‘S>, AÞ gmIir Am{U Omio, gm{hË` MH«$

BH$mo{gñQ>‘ D$Om© {na°{‘S>, AÞ gmIir Am{U Omio
gm{hË` MH«$

2) n`m©daUr` Ag§VwbZ, g§dY©Z, OmJ{VH$ n¶m©daU n[afXm, BAm¶E
n`m©daUr` Ag§VwbZ
n`m©daU g§dY©Z
OmJ{VH$ n¶m©daU n[afXm
BAm¶E

1) BH$mo{gñQ>‘ - D$Om© {na°{‘S>, AÞ gmIir Am{U Omio, gm{hË` MH«$

BH$mo{gñQ>‘

1) ''n¶m©daU åhUOo gOrdm§À¶m qH$dm Ordg‘yhm§À¶m OrdZ, dmT>, {dH$mg d ‘¥Ë¶yda n[aUm‘ H$aUmar gd© n[apñWVr, {VMr
H$maHo$ d Ë¶m§Mm à^md hmo¶''. n¶m©daUmMr hr ì¶m»¶m H$moUr Ho$cr ?
1) {dœH$moe 2) {~«Q>m{ZH$m {dœH$moe 3) E. gr. Q>mÝgco 4) O°H$s pñ‘W

1) “Environment means the sum total of all conditions agencies and influences which affect the

development,  growth, life and death of an organism, species or race”, Who created this definition

of environment ?

1) Universal Encyclopedia 2) Britanica Encyclopedia

3) A. C. Tansley 4) Jackie Smith

2) 'n¶m©daUmVrb gd© gOrd d {ZOud KQ>H$m§Mr EH${ÌV g§aMZm åhUOo n[ag§ñWm' hr ì¶m»¶m 1935 ‘Ü¶o H$moUr Ho$br?
1) E. Or. Q>mÝgco 2) E’$. Ama. ’$mog~J© 3) Zo~b 4) S>m{d©Z
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2) Who defined the ecosystem in 1935 as ‘The study resulting from the integration of all the living

and non-living factors of the environment’ ?

1) A. G. Tansley 2) E. R. Fosberg 3) Nebal 4) Darwin

3) n[apñW{VH$s ¶m OrdemómÀ¶m ‘hÎdmÀ¶m emIobm 'BH$m°cm°Or' (Ecology) ho emór¶ Zmd gd©àW‘ ...... ¶m O‘©Z
àmUremókmZo 1869 gmbr {Xbo.
1) B©. EM. hoHo$b 2) Or. E. noQ´mB©S>g 3) Hw$. g|nb 4) ¶mn¡H$s Zmhr

3) The scientific name 'Ecology' was first given to this important branch of Biology by ...... a German

Zoologist in 1869.

1) E. H. Haeckel 2) G. A. Petridis 3) Miss Sample 4) None of these

4) OmJVrc Imcrc n¡H$s H$moUË¶m ^mJmV àdmi IS>H$m§Mr AndmXmË‘H$ n[apñWVrV {Z{‘©Vr Pmcocr Amho ?
A) cm°S>© ìhmodo ~oQ> ~) hþQ>‘°Z A°~«moëhmg H$) {J¶mZmMo AmImV S>) gmo‘m{c¶Z {H$Zmam
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ ~ Am{U H$ 3) ’$º$ Am{U H$ 4) ’$º$ H$ Am{U S>

4) Which of the following are the exceptional occurrences of coral reefs in the world ?

a. Lord Howe Island

b. Houtman’s Abrolhas

c. Gulf of Guinea

d. Somalian coast

Answer options :

1) Only a and b 2) Only b and c 3) Only a and c (4) Only c and d

5) ãbme, ’o$~dao, ~mo‘oZ, JmoëS>Z {~Oa ¶m§Zr ...... Mo g‘W©Z Ho$bo.
a) {ZgJ©dmX b) g§̂ ddmX c) Wm§~m d Om {dMmagaUr
n¶m©¶r CÎmao …
1) ’$º$ (b) ~amo~a Amho 2) ’$º$ (a) ~amo~a Amho
3) (a), (b) ~amo~a AmhoV 4) (a), (b), (c) ~amo~a AmhoV

5) Blache, Fabvre, Bomen, Golden Bijar have supported to

a) Determinism b) Possibilism c) Stop and Go Determinism

Answer Options :

1) only (b) is correct 2) only (a) is correct

3) (a), (b) are correct 4) (a), (b), (c) are correct

6) D$Om© Am{U gm{hË¶/dñVy ¶m§Mm n[ag§ñWo‘Yrb nañnag§~§Y ...... ¶m§À¶m Ñï>rZo ’$maM ‘hÎdmMm Amho.
1) n¶m©daUemók 2) ŷJ ©̂emók 3) H¥${femók 4) dZñn{Vemók

6) The interaction of energy and materials in the ecosystem is of primary concern to the ......

1) Ecologists 2) Geologists

3) Agricultural scientists 4) Botanists
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7) Imbrbn¡H$s n[ag§ñWoMr gd©gmYmaU H$moUVr H$m¶} AmhoV?
a) CËnmXZ b) dmna/Cn¶moJ c) {dKQ>Z
n¶m©¶r CÎmao …
1) (a) Am{U (c) ’$º$ 2) (a) Am{U (b) ’$º$ 3) (b) Am{U (c) ’$º$ 4) darb gd©

7) Which of the followings are the overall functions of ecosystem ?

a) Production b) Consumption c) Decomposition

Answer options :

1) (a) and (c) only 2) (a) and (b) only 3) (b) and (c) only 4) All of the above

8) ...... ho Z¡g{J©H$ àH$maÀ¶m n[ag§ñWoV JUbo OmVo.
1) nrH$ O‘rZ 2) O§Jb 3) ~JrMm 4) darbn¡H$s H$moUVohr

8) ...... can be considered as a natural type of ecosystem.

1) Crop land 2) Forest 3) Garden 4) None of the above

9) ...... ho O¡{dH$ db¶mVrb {ZgJm©À¶m {d{dYVoÀ¶m A§Jmer {ZJS>rV Amho.
1) Ordemó 2) O¡{dH$ {d{dYVm (O¡d {d{dYVm)
3) O¡d dmVmdaU 4) O¡d hdm‘mZ

9) ...... deals with the degree of nature’s variety in the biosphere.

1) Biology 2) Biological diversity (Biodiversity)

3) Bio-atmosphere 4) Bio-climate

10) H$mhr àOmVr ZîQ> Pmë¶m Va n¶m©daUmda J§̂ ra n[aUm‘ H$aVmV Ë¶m§Zm ............ åhUVmV.
1) {Zim XJS> 2) cmc XJS> 3) {ndim XJS> 4) {H$ñQ>moZ

10) Some species if eliminated seriously affect the ecosystem. These are called as ....

1) Blue stone 2) Red stone 3) Yellow stone 4) Keystone

11) ŷI§S>mÀ¶m npíM‘ {H$Zmè¶mcJV àdmi IS>H$m§Mr {Z{‘©Vr Pmcocr {XgyZ ¶oV Zmhr H$maU
1) I§S>mÀ¶m npíM‘ {H$Zmè¶mcJV erV àdmh dmhV Agë¶m‘wio
2) B©emÝ¶ d Am½Zo¶ ì¶mnmar dmao àdmi IS>H$m§À¶m {Z{‘©VrV AS>Wim {Z‘m©U H$aVmV.
3) I§S>mÀ¶m npíM‘ {H$Zmè¶mnmgyZ {dfwdd¥Îmr¶ CîU àdmh dmhVmo.
4) darc n¡H$s Zmhr

11) Along the west coast of continents coral reef formations are not observed because

1) Prevalence of cool ocean currents flowing along the west coast of continents

2) The north-east and south-east trade winds create obstacles in the coral formation

3) The equatorial warm current starts from the western coast of the continents

4) None of the above

12) OJmVrc H$moUË¶m ^mJmV àdmi IS>H$m§Mo H|$ÐrH$aU gdm©{YH$ Amho ?
1) {dfwdd¥Îmr¶ gmJar ^mJmV 2) H$H©$d¥ÎmmcJVÀ¶m gmJar ^mJmV
3) Amp³Q>©H$ d¥ÎmmcJVÀ¶m gmJar ^mJmV 4) g‘erVmoîU H${Q>~§Yr¶ gmJar ^mJmV

12) In which part of the world the largest concentration of coral reef occurs ?

1) Near the equatorial waters 2) Near the tropic of cancer

3) Near the Arctic circle 4) In the temperate region
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D$Om© {na°{‘S>, AÞ gmIir Am{U Omio

1) Imcrc n¡H$s H$moUVr Vmn‘mZmMr pñWVr àdmi H$sQ>H$m§À¶m dmT>rgmR>r A{YH$ AZwHy$c AgVo ?
1) Vmn‘mZ 100 go Vo 230  go Xaå¶mZ 2) Vmn‘mZ 230 go Vo 250  go Xaå¶mZ
3) Vmn‘mZ 250 go Vo 300  go Xaå¶mZ 4) Vmn‘mZ 00 go Vo 100  go Xaå¶mZ

1) Which of the following temperature conditions is the most favourable for the growth of coral ?

1) Temperatures between 10°C to 23°C 2) Temperatures between 23°C to 25°C

3) Temperatures between 25°C to 30°C 4) Temperatures between 0°C to 10°C

2) Imcrcn¡H$s H$moUVm n[apñW{VH$s ‘Zmoè¶mMm àH$ma Zmhr ?
1) g§»¶oMm ‘Zmoam 2) O¡{dH$ dñVw‘mZmMm ‘Zmoam 3) AÞOmir ‘Zmoam 4) D$O}Mm ‘Zmoam

2) Which of the following is not the type of Ecological pyramid ?

1) Pyramid of number 2) Pyramid of biomass

3) Pyramid of food web 4) Pyramid of energy

3) D$Om© {na°{‘S>‘Ü ò, àË òH$ Q´m°{’$H$ ñVamda CnbãY D$O}Mo à‘mU ............ AgVo.
1) dmT>Vo 2) KQ>Vo 3) pñWa 4) darb gd©

3) In energy pyramid, thereis a/an ................ quantity of energy available at each trophic level.

1) increasing 2) decreasing 3) constant 4) All of the above

4) àmUdm¶y{edm¶ OJUmao {OdmUy ...... ¶m AmYmamda Ho$boë¶m dJuH$aUmV ‘moS>VmV.
1) nmofU Am{U D$Om© 2) àmUdm¶y Amdí¶H$Vm 3) ghOrdr nañnag§~§Y 4) AghOrdr nañnag§~§Y

4) Anaerobic bacteria are classified under ......basis.

1) Nutrition and energy 2) Oxygen requirement

3) Symbiotic relationship 4) Non symbiotic relationship

gm{hË` MH«$

1) nmbme ‘ybÐì¶mMo (nmoQ>°{e¶‘Mo) nmbme Am°³gmB©S> (nmoQ>°{e¶‘ Am°³gmB©S>) ‘Ü¶o ê$nm§Va H$aÊ¶mMm ...... hm JwUm§H$
Amho.
1) 1.20 2) 2.29 3) 1.66 4) 1.39

1) Conversion factor of K element into K
2
O is ......

1) 1.20 2) 2.29 3) 1.66 4) 1.39

2) Imbrbn¡H$s H$moUVo n[ag§ñWoVrb {Zìdi dm ỳ O¡d-amgm`{ZH$ MH«$ Amho?
1) gë’$a gm`H$b 2) Zm`Q´moOZ gm`H$b 3) ’$m°ñ’$ag gm`H$b 4) H$m~©Z gm`H$b

2) Which one of the following is net a gaseous biogeochemical cyele in an ecosystem ?

1) Sulphur cycle 2) Nitrogen cycle 3) Phosphorus cycle 4) Carbon cycle

3) H$moUË¶m àH$maMo Ord H$m~©ZMm òmoV åhUyZ g|{Ð¶ g§¶wJo dmnaVmV?
1) Am°Q>moQ´>m°âg 2) ’°$H$ëQ>o{Q>ìh 3) {H$‘moAm°Q>moQ´>m°âg 4) hoQ>amoQ´>m°âg

3) Which type of soil organisms use organic compounds as their source of carbon ?

1) Autotrophs 2) Facultative 3) Chemoautotrophs 4) Heterotrophs
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4) à{WZo ho Ago ...... g§¶wJ Amho H$s Oo n[ag§ñWoMo g§aMZmË‘H$ d¡{eîQ>ço R>adVmV.
1) Ag|{Ð¶ 2) g|{Ð¶ 3) amgm¶{ZH$ 4) darbn¡H$s H$moUVohr Zmhr

4) Protein is considered as compound which make up the structural aspects of an ecosystem.

1) inorganic 2) organic 3) chemical 4) None of the above

2) n`m©daUr` Ag§VwbZ, g§dY©Z, OmJ{VH$ n¶m©daU n[afXm, BAm¶E

n`m©daUr` Ag§VwbZ

1) Imbrb {dYmZo nhm …
(a) MZm}~rb AUweº$s AnKmV 26 E{àb 1986 amoOr Pmbm.
(b) pñdS>Z‘Yrb emókm§Zm 1986 ‘Ü¶o AmOw~mOyÀ¶m n¶m©daUmV {H$aUm§Mo CËgO©Z (Radiation) Pmbobo g‘Obo.
(c) MZm}~rb àH$ënmV J«°’$mBQ>Mm Cn¶moJ AUŵ Å>r (Reactor) W§S> H$aÊ¶mgmR>r Ho$bm OmV hmoVm.
n¶m©¶r CÎmao …
1) ’$º$ {dYmZ (a) ~amo~a Amho. 2) {dYmZ (a) Am{U (b) ~amo~a AmhoV.
3) {dYmZ (a) Am{U (c) ~amo~a AmhoV. 4) {dYmZ (a), (b) Am{U (c) ~amo~a AmhoV.

1) Observe the following statements :

(a) Chernobyl nuclear power accident occured on 26 April 1986.

(b) The Scientists from Sweden noticed increasing radiation in the surrounding environment in1986.

(c) Graphite was used to cool reactors in Chernobyl plant.

Answer options :

1) Only Statement (a) is correct 2) Statement (a) and (b) are correct

3) Statement (a) and (c) are correct 4) Statement (a), (b) and (c) are correct

2) OJm‘Ü¶o 2000 À¶m XeH$mV ŷ̂ mJmda {H$Vr O§Jc AmdaU hmoVo ?
1) 50% nojm OmñV 2) 60% nojm OmñV 3) ’$º$ 30% 4) 30% nojm H$‘r

2) How much forest cover of the world was of land area in decade of 2000 ?

1) More than 50%  2) More than 60% 3) 30% only 4) Less than 30%

3) OyZ 2023 ‘Ü¶o ^maVmÀ¶m npíM‘ ^mJmVrb g‘wÐ {H$Zmè¶mdarb àXoembm H$moUË¶m dmXimMm VS>mIm ~gbm hmoVm?
1) A‘’$mZ 2) ’$¶mZ 3) Vm¡ºo$ 4) {~naOm°¶

3) Which cyclone hit the coastal region of the western part of the India in June 2023 ?

1) Amphan 2) Phyan 3) Taukte 4) Biparjoy

4) Imbrbn¡H$s H$moUVm àXoe ~oH$m`Xoera MwZIS>r CËIZZm‘wio YmoŠ`mV Amho Am{U Ë`mMo AZmoIo AmdaU H$mTy>Z Q>mH$bo
Jobo Amho? A{YH¥$VnUo {e’$mag Ho$boë`m 60 Q> ²̧$`m§À`m VwbZoV Imoè`mVrb d¥jmÀN>m{XV joÌ AmVm Ho$di 12 Q> o̧$
Agë`mMo Zm|Xdbo Jobo Amho.
1) Aßna J§Jm ìh°br 2) S>yZ ìh°br 3) Xm‘moXa ìh°br 4) J§Jm-`‘wZm XmoAm~

4) Which of the following region is in danger because of unconirolled limestone quarrying and has

been stripped bare of its unique cover ? The area under tree cover of valley is now reported to be

only 12 percent as against officially recommended 60 percent.

1) Upper Ganga Valley 2) Doon Valley

3) Damodar Valley 4) Ganga-Yamuna Doab
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5) Imcrcn¡H$s H$moUVr amÁ¶o ‘hmX¶r ZXrÀ¶m nmUr dmQ>nmÀ¶m dmXmV gh^mJr AmhoV ?
A) Jmodm ~) H$Zm©Q>H$ H$) Voc§JmUm S>) Am§Y«àXoe
n¶m©¶r CÎmao :
1) ’$º$ ~, H$ Am{U S> 2) ’$º$ A Am{U ~ 3) ’$º$ H$ Am{U S> 4) A, ~, H$ Am{U S>

5) Which of the following States are involved in the dispute over the sharing of the water of the

Mahadayi River ?

a) Goa b) Karnataka c) Telangana d) Andhra Pradesh

Answer options :

1) only b,c and d 2) only a and b 3) only c and d 4) a,b,c and d

6) hoZ[aH$À`m ‘Vo, Q>miVm ̀ oÊ`mOmo½`m XwImnVrMr KQ>Zm hr KQ>Zm§À`m ‘m{bHo$Mm Z¡g{J©H$ H$ig Amho, Or Zoh‘rM {ZpíMV
Am{U Vm{H©$H$ nÕVrZo KS>Vo. H$mbH«$‘mZwgma nmM KQ>H$m§Mr `mXr H$am.
1) ì`º$sMm Xmof 2) gm‘m{OH$ dmVmdaU d§e
3) Agwa{jV H$m`Xm, `m§{ÌH$ qH$dm emar[aH$ YmoH$m 4) XwImnV
5) AnKmV
n¶m©¶r CÎmao …
1) 1, 2, 3, 4, 5 2) 2, 1, 5, 3, 4 3) 2, 1, 3, 5, 4 4) 2, 1, 4, 3, 5

6) As per Heinrich, the occurrence of a preventable injury is the natural culmination of a series of

events, which invariably occur in a fixed and logical manner. List out in chronological order the

five factors.

1) Fault of person 2) Social environment Ancestry

3) Unsafe Act, mechanical or physical hazard 4) Injury

5) Accident

Answer Options :

1) 1, 2, 3, 4, 5 2) 2, 1, 5, 3, 4 3) 2, 1, 3, 5, 4 4) 2 ,1, 4, 3, 5

7) Imbrb OmoS>çm Owidm.
a. ApñVËdmV Amho I Vm|S> Úm
b.  àM§S> II ‘moR>çm g§» òZo H$mhrVar
c. gm‘Zm IIIAnyU© Zme
d. CƒmQ>Z IV OJUo
e. Ag§»` V AË §̀V ‘moR>m
n¶m©¶r CÎmao …

a b c d e

1) II I III IV V

2) III II I IV V

3) IV V I III II

4) I III IV II V
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7) Match the following.

A B

a. exist I. be faced with

b. enormous II. large number of something

c. encounter III. ncomplete destruction

d. annihilation IV. survive

e. myriad V. extremely large

Answer Options :

a b c d e

1) II I III IV V

2) III II I IV V

3) IV V I III II

4) I III IV II V

8) ............ åhUOo g§ñWmË‘H$ H$m¶m©da {dnarV n[aUm‘ H$aÊ¶mMr j‘Vm Agcocr H$moUVrhr n[apñWVr qH$dm KQ>Zm
1) W«oQ> 2) go’$JmS>© 3) ìhcZa°{~crQ>r 4) pìh{S>Amo AmoiI àUmcr

8) ............ means any condition or event that has the potential to adversely affect organizational

performance

1) Threat 2) Safeguard

3) Vulnerability 4) Video Recognition System

9) 2011 gmcr OnmZ‘Ü¶o ’w$Hw${e‘m AUw D$Om© ¶§ÌUoV AnKmV Pmcm hmoVm. ¶m‘wio ¶m ^mJmV {H$aUmoËgJu ßcwQ>mo{Z¶‘
{dIwacm Jocm Am{U emgZmcm Odinmg nmM cmI cmoH$m§Zm Ë¶mVyZ {dñWm{nV H$amdo cmJco. {H$aUmoËgJm©À¶m g§nH$m©V
Amamo½¶mcm nmohmoMUmè¶m Ymo³¶mnmgyZ gwa{jV R>odÊ¶mgmR>r, ¶m ^mJmV nwÝhm naVm¶cm cmoH$m§da ~§Xr KmcÊ¶mV Amcr.
nU ’w$Hw${e‘mgma»¶mM MoZm}{~c ¶oWo KS>coë¶m VemM n[apñWVrÀ¶m Aä¶mgmZo, Oar ì¶º$s¨Mo gamgar Am¶w‘m©Z KQ>co
Var Ë¶mcm nyU©nUo {H$aUmoËgJm©‘wio Pmcocm H$H©$amoJ H$maUr ŷV ZìhVm Ago XmIdyZ {Xco. OÝ‘^amÀ¶m {Zdm©{gVVo‘wio
Amcocr {eÞ‘ZñH$Vm, XméMo ì¶gZ Am{U AmË‘hË¶m hr KQ>coë¶m Am¶w‘m©ZmMr à‘wI H$maUo hmoVr. åhUOoM H$m¶‘À¶m
{Zdm©{gVo‘wio Pmcoco ‘Zmod¡km{ZH$ n[aUm‘ H$Xm{MV {H$aUmoËgJm©À¶m emar[aH$ n[aUm‘m§nojm A{YH$ J§̂ ra hmoVo. {H$aUmoËgJm©À¶m
gwa{jVVm nmVir~Ôc d¡km{ZH$m§V gh‘Vr Zmhr ho cjmV KoÊ¶mMr JaO Amho. åhUyZ AmVm BÀN>m Agë¶mg ’w$Hw${e‘m
{Zdm©{gVm§Zm ñdV:À¶m ‘yi {ZdmgmV naVm¶Mr ‘moH$irH$ {Xcr nm{hOo.
darc ¶w{º$dmXmMm gdm©V CÎm‘ àH$mao à‘wI {ZîH$f© ì¶º$ H$aUmao nwT>rcn¡H$s EH$ {dYmZ {ZdS>m.
1) {H$aUmoËgJm©À¶m g§nH$m©À¶m n[aUm‘r {Z‘m©U hmoUmè¶m H$H©$amoJmMm YmoH$m A{Va§{OV Ho$cm OmVmo.
2) {H$aUmoËgJm©À¶m gwa{jVVm nmVir{df¶r d¡km{ZH$m§V gh‘Vr Zmhr.
3) Ooìhm cmoH$m§da ñdV:Mr Kao H$m¶‘Mr gmoS>Ê¶mgmR>r ~iO~ar Ho$cr OmVo Voìhm Ë¶m§Mo Am¶w‘m©Z KQ>Vo.
4) Oa cmoH$m§Zm {H$aUmoËgJm©Mm YmoH$m ‘mhrV Agoc Va AnKmVmMr OmJm H$m¶‘Mr gmoS>m¶Mr dm Zmhr ¶mMr {ZdS>

cmoH$m§Mr Agm¶cm hdr.
9) In 2011, there was an accident in Japan at the Fukushima Atomic Power Plant. This caused dispersion

of radioactive Plutonium in the area and government had to evacuate nearly half a million people.

These people were prohibited from returning to the area for protecting them from bealth risks of

radiation exposure. But according to studies of situation at Chernobyl, that was similar to

Fukushima situation showed that though average life expectancy of evacuated persons was reduced,

it was not totally because of cancer caused by radiation. Major causes of reduced life expectancy

were depression, alcoholism, and suicide due to lifelong evacuation. Thus permanent evacuation

resulted in psychological effects that might be more severe than the physical effects of radiation.
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It is necessary to note that there is no agreement among scientist about safety level of the radiation.

Therefore now Fukushima evacuees should be allowed to return to their original dwellings if they

are willing.

Select one of the following statement that best expresses the main conclusion of the above

argument.

1) Risk of cancer resulting due to exposure to radiation is highly exaggerated

2) Scientist disagree about a safety level of radiation

3) Life expectancy is reduced when people are forced to abandon their homes permanently

4) Whether to evacuate accident area permanently or not should be the peoples' choice, if they

know the risk of radiations.

10) ‘mVrVrc Zm¶Q´>moOZ IV {OdmUyÛmao VmoS>ë¶mg ............ ‘wº$ hmoVo.
1) Zm¶Q´>moOZ S>m¶Am°³gmBS> (NO

2
) 2) Zm¶Q´>g Am°³gmBS> (N

2
O)

3) Zm¶Q´>moOZ Q´>m¶Am°³gmBS> (NO
3
) 4) Zm¶Q´>moOZ (N

2
)

10) Nitrogen fertilizers in soils releases when broken down by bacteria.

1) Nitrogen dioxide (NO,) 2) Nitrous oxide (N,O)

3) Nitrogen trioxide (NOs) 4) Nitrogen (N,)

11) ‘Ëñ`nmbZ VbmdmV ‘mem§À¶m g{H«$` dmT>rXaå`mZ, ’$m`Q>moßb±ŠQ>Z Am{U BVa ~m`moQ>mÀ`m Am°Q>mo{b{gg‘wio H$moUVo
nXmW© gmoS>bo OmVmV?
1) EHy$U Va§JUmao KZnXmW© 2) EHy$U Va§JUmao H$U 3) {daKibobr g|{Ð` g§̀ wJo4) EHy$U ^m¡{VH$ H$U

11) Which substances are released on the autolysis of phytoplankton and other biota during active

growth in aquaculture pond ?

1) Total suspended solid 2) Total suspended particles

3) Dissolved organic compounds 4) Total physical particles

12) H$moUVo nXmW© ho H$moi§~r VbmdmVrb Am°pŠgOZ H$‘r hmoÊ`mMo ‘w»` H$maU AgVmV?
1) ‘mgo Am{U H$moi§~r 2) ’$m`Q>moßb±ŠQ>Z ãby‘ Am{U Hw$OUmam H$Mam
3) ~m`mo{’$ëQ>g© Am{U dmiy {’$ëQ>a 4) H$moigm Am{U XJS>

12) What materials are usually the main reasons for dissolved oxygen depletion in prawn pond ?

1) Fish and prawn 2) Phytoplankton bloom and decaying waste

3) Biofilters and sand filters 4) Coal and stones

13) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
a) ‘moR>çm (CƒdJu¶) dZñnVr dmVmdaUmVrb ZÌmMm dmna H$ê$ eH$V ZmhrV.
b) dmT>Umar dZñnVr hr Ë¶mg bmJUmè¶m H$~©gmR>r ‘w»¶Ëdo hdoVrb H$m~©Z S>m¶Am°³gmB©S>da Adb§~Vo.
c) ‘moR>o àmUr hdoVrb H$m~©Z S>m¶Am°³gmB©S>Mm dmna H$ê$ eH$V Zmhr?
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (c) 4) darb gd©
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13) Which of the following sentence is true ?

a) Higher plants are unable to make use of atmospheric nitrogen.

b) Growing plant mainly depends for its carbon on carbon dioxide of air.

c) Higher animals cannot utilize the CO, of the air.

Answer Options :

1) only (a) 2) only (b) 3) only (c) 4) All of these

14) OJmVrc O§Jcm§À¶m èhmgm‘wio H$moUVr g§H$Q>o CX²̂ dV AmhoV ?
A A{Z¶{‘V nO©Ý¶‘mZ B.  ŷOc dmT>co Amho C.  dmid§Q>rH$aU D.  XþîH$mi dmT>cm Amho
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
1) A  ’$º$ 2) A , C Am{U D 3) A Am{U B ’$º$ 4) A , B  Am{U D

14) Deforestation in the world has resulted in which calamities ?

A. Irregular rainfall

B. Increased ground water

C. Desertification

D. Increased drought

Which of the statement given above is/are correct ?

1) Aonly 2) A,C and D 3) A and B only 4) A, B and D

15) g‘wÐr OrdZmda {dÜd§gH$ n[aUm‘m§Mo H$maU H$m` Amho?
1) H¥${Ì‘ nmofH$ VËdm§Mm dmna
2) Z¡g{J©H$ g§gmYZm§Mm A{Vdmna
3) eoVr‘Ü ò ’$m°ñ’$agMm A{Vdmna, Omo g‘wÐ, ZÚm§‘Ü ò dmhÿZ OmVmo Am{U Ë`m§Zm {dfmar ~ZdVmo.
4) AUw MmMUr

15) What is the reason of destructive effects on sea life, according to the passage ?

1) Use of artificial nutrients

2) Over use of natural resources

3) Excessive use of phosphorus in farming that gets washed into sea, rivers and make them  toxic.

4) Nuclear Testing

16) gdm©V `mo½` n`m©̀  {ZdS>m:
AmYw{ZH$ ‘mUyg ............. ‘Ü ò ~Xbbm Amho.
1) à`moJ H$aÊ`mgmR>r {JZr {nJ 2) n`m©daUr` dñVw‘mZ IwZr
3) n`m©daUr` {gar`b {H$ba 4) n`m©daUr` {gar`b {H$ba Am{U gm‘y{hH$ IyZr XmoÝhr

16) Choose the most appropriate option :

Modern man has turned into ............. , according to the writer.

1) guinea pig to do experiment on

2) an ecological mass murderer

3) an ecological serial killer

4) both an ecological serial killer and mass murderer
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17) Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV?
A) ‘mZdmbm nyU©nUo ‘m{hV Amho H$s Vo n`m©daUr` Ag§VwbZmg H$maUr ŷV AmhoV
~) hmobmogrZ H$mimV hdm‘mZ pñWa hmoVo
H$) AmYw{ZH$ Am¡Úmo{JH$ eoVr ’$m°ñ’$agÀ`m A{Vdmnamda AmYm[aV Amho
S>) ‘mUgmÀ`m {dñH$irV H¥$VtH$S>o Xwb©j H$ê$Z A°‘oPm°ZMo aoZ ’$m°aoñQ> Zï> hmoUma Zmhr.
n¶m©¶r CÎmao …
1) A Am{U ~ 2) ’$º$ ~ Am{U S> 3) ’$º$  ~ Am{U H$ 4) ’$º$ ~

17) Which of the following statements are true in the context of the given passage ?

a) Human beings fully know that they are causing ecological imbalance

b) During Holocene period, climate was stable

c) Modern industrial farming is based on overuse of phosphorus

d) Amazon rain forest will not get destroyed irrespective of man’s disruptive activities.

Answer Options :

1) a and b 2) b and d  3) b and c 4) only b

18) 20 ì`m eVH$mÀ`m CÎmamYm©V OmJ{VH$ amOH$maÊ`m§Zr H$moUVm YmoH$m AmoiIbm Zmhr?
1) AUẁ wÕmMm YmoH$m 2) n`m©daUr` {dZme
3) ‘mZdr OrdZmÀ`m èhmgmMm YmoH$m 4) darbn¡H$s H$moUrhr Zmhr

18) Which threat was not recognized by global politicians during the second half of the 20th Century?

1) Nuclear war threat 2) Ecological destruction

3) Threat of degradation of human life 4) None of he above

19) __________ hr ‘mZdmZo (g‘mOmZo) {Z‘m©U Ho$bobr AmnÎmr AmhoV.
1) gwZm‘r 2) dm§{eH$ g§Kf© 3) ŷH§$n 4) MH«$sdmXi

19) _________ are human (society) made disasters.

1) Tsunamis 2) Ethnic conflicts 3) Earthquakes 4) Cyclones

20) ZmJarH$aUm‘wio ZmJar joÌmV KSy>Z ¶oUmao ~Xb AmhoV -
a) OZgm§p»¶H$s¶ ~Xb b) g‘mO g§aMZoV ~Xb c) ì¶dhm[aH$ ~Xb
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (a) Am{U (b) 3) (c) ’$º$ 4) darb gd©

20) Due to urbanization, there is/are changes in urban area.

a) Demographic changes

b) Change in social structure

c) Behavioural changes

Answer Options :

1) (a) only 2) (a) and (b) 3) (c) only 4) All of the above

21) Imbrbn¡H$s H$moUË¶m KQ>H$mMm ‘mZdr dgmhVrda n[aUm‘ hmoVmo?
a) ŷn¥ð>aMZm b) nmUr c) gy¶©àH$me
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) Am{U (b) 4) (a), (b) Am{U (c)
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21) Which of the following factors affect human settlement.

a) Topography b) Water c) Sunlight

Answer Options :

1) only (a) 2) only (b) 3) (a) and (b) 4) (a), (b) and (c)

22) nwT>rb {dYmZmn¡H$s H$moUVo ¶mo½¶ Amho?
a) OmJ{VH$sH$aUmÀ¶m ^mdZoMm AW© Agm Amho H$s YmoaU {Z‘m©Ë¶m§Zr OmJ{VH$ g§X^m©V AO|S>m {Z{‘©Vr Am{U g‘ñ¶m

ì`m»`rV H$aUo ¶mMm {dMma Ho$bm nm{hOo.
b) àË¶oH$ XoemVrb YmoaUH$V} g‘¥Õr, ‘§Xr, Z¡amí¶ Am{U nwZàm©ár ¶m Am§Vaamï´>r¶ Am{W©H$ MH«$mÛmao V¶ma Ho$bobo YmoaU

g§X ©̂ gm‘m{¶H$ H$aVmV.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b)

3) XmoÝhr (a) d (b) ~amo~a AmhoV 4) H$moUVohr ~amo~a Zmhr
22) Which of the following statements are correct ? oy

a) The implications of the notion of globalization are that policy-makers must consider agenda

formation and problem definition within a global context.

b) The policy-makers in each country share a policy context formed by the international economic

cycle of prosperity, recession, depression and recovery.

Answer Options :

1) Only (a) 2) Only (b)

3) Both (a) and (b) are correct 4) None is correct

23) JmoXmdar ZXrÀ¶m Imoè¶m§er g§~§{YV Imbrb {dYmZo {dMmamV ¿¶m.
a) àdam Am{U ‘wim ¶m JmoXmdarÀ¶m COì¶m VramÀ¶m CnZÚm AgyZ Ë¶m§Mm CJ‘ àXoemVrb AV{d¥ï>rMm Ë¶m§Zm ’$m¶Xm

hmoVmo.
b) ‘m§Oam ZXr hr JmoXmdarMr CnZXr Amho Or ~mbmKmQ> nR>mamda dmhVo.
c) àmU{hVm Imoao hm JmoXmdar Imoè¶mMm ^mJ Zmhr.
d) JmoXmdar Imoè¶mZo ‘hmamï´> amÁ¶mMo 38% joÌ ì¶mnbo Amho.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/V?
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b)

3) ’$º$ (a), (b) Am{U (c) 4) darb gd©
23) Consider the following statements regarding Godavari river basins.

a) Pravara and Mula are right bank tributaries of Godavari and benefit from rainfall in their source

region.

b) Manjra river is a tributary of Godavari which flows on Balaghat Plateau.

c) Pranahita basin is not a part of Godavari basin.

d) Godavari basin covers 38% area of Maharashtra state.

Which of the above statement/s is/are correct?

1) (a) only 2) (a) and (b) only

3) Only (a), (b) and (c) 4) All of the above
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n`m©daU g§dY©Z

1) Am{e¶m I§S>mVrb boH$ Q>°qnJMm n{hbm à¶moJ H$mo¶Zm Obme¶mV H$moUË¶m dfu H$aÊ¶mV Ambm?
1) ‘mM© 1974 2) ‘mM© 1967 3) ‘mM© 1999 4) ‘mM© 1975

1) In which year the First experiment of lake tapping in Asia was done in Koyna reservoir ?

1) March 1974 2) March 1967 3) March 1999 4) March 1975

2) 2016 ‘Ü¶o {g¸$s‘ ho amÁ¶ ̂ maVmVrb n{hbo 100% g|{Ð¶ amÁ¶ åhUyZ Kmo{fV H$aÊ¶mV Ambo. Ë¶mZwgma EHy$U {H$Vr
joÌ g|{Ð¶ eoVr åhUyZ à‘m{UV H$aÊ¶mV Ambo?
1) 1,80,000 EH$a 2) 1,70,000 EH$a 3) 1,50,000 EH$a 4) 1,90,000 EH$a

2) In 2016 the State of Sikkim declared as the first 100% organic State in India. How much land.is

certified as organic farm ?

1) 1,80,000 acres 2) 1,70,000 acres 3) 1,50,000 acres 4) 1,90,000 acres

3) Imbrb OmoS>çm Owidm.
A - emídV {dH$mgmMr Ü¶o¶o ~ - g§~§YrV AgUmè¶m ~m~r
A) emídV {dH$mgmMo Ü¶o¶ H«$. 10 1) hdm‘mZ {H«$¶m
~) emídV {dH$mgmMo Ü¶o¶ H«$. 13 2) O{‘Zrdarb OrdZ
H$) emídV {dH$mgmMo Ü¶o¶ H«$. 14 3) Ag‘mZVm H$‘r H$aUo
S>) emídV {dH$mgmMo Ü¶o¶ H«$. 15 4) nmÊ¶mImbrb OrdZ

5) XmarÐç {Z‘w©bZ
n¶m©¶r CÎmao …
1) A - 1, ~ - 2, H$ - 3, S> - 4 2) A - 2, ~ - 3, H$ - 5, S> - 4
3) A - 5, ~ - 2, H$ - 4, S> - 1 4) A - 3, ~ - 1, H$ - 4, S> - 2

3) Match the following list.

A — Sustainable Development Goals B — Related items

a) Sustainable Development Goal 10 1) Climate action

b) Sustainable Development Goal 13 2) Life on land

c) Sustainable Development Goal 14 3) Reduce inequalities

d) Sustainable Development Goal 15 4) Life below water

5) Poverty alleviation

Answer options :

1) a — 1, b — 2, c — 3, d — 4 2) a — 2, b — 3, c — 5, d — 4

3) a — 5, b — 2, c — 4, d — 1 4) a — 3, b — 1, c — 4, d — 2

4) ‘hmamï´>mVrc g‘wÐ {H$Zmam n¶©Q>Zmg MmcZm {‘imdr åhUyZ ""~rM e°H$ YmoaU" am~{dÊ¶mMm {ZU©¶ emgZmZo H$Yr
KoVcm?
1) {XZm§H$ 2 Zmoìh|~a, 2020 2) {XZm§H$ 28 Zmoìh|~a, 2020
3){XZm§H$ 15 ‘mM©, 2021 4) {XZm§H$ 17 Am°JñQ>, 2020

4) When did the government decide to implement "Beach Shack Policy" to promote beach tourism

in Maharashtra?

1) Dated November 2, 2020 2) Dated November 28, 2020

3) Dated 15th March, 2021 4) Dated 17th August, 2020
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5) ~iramOm Ocg§OrdZr ¶moOZo A§VJ©V {H$Vr àH$ënm§Zm ‘mÝ¶Vm XoÊ¶mV Amcocr Amho?
1) 100 2) 150 3) 91 4) 85

5) How many projects have been approved under Baliraja Jalsanjeevani Yojana?

1) 100 2) 150 3) 91 4) 85

6) "{‘ï>r" ¶moOZ|VJ©V Ima’w$Q>rMr bmJdS> H$aÊ¶mgmR>r ‘hmamï´>mVrb am¶JS>‘Yrb {H$Vr {R>H$mUo {ZdS>Ê¶mV Ambr AmhoV?
1) 1 2) 2 3) 3 4) 4

6) How many locations from Raigad in Maharashtra have been selected to plant Mangroves under

‘Mishti’ scheme?

1)  1 2) 2 3) 3 4) 4

7) "gmJa n[aH«$‘m" H$m¶©H«$‘mMm eŵ ma§̂  H$moUË¶m amÁ¶mV Pmcm ?
1) Ho$ai 2) JwOamV 3) Vm{‘iZmSy> 4) ^mdo à¶moJ

7) Sagar Parikrama program was launched in which state?

1) Kerala 2) Gujarat 3) Tamil Nadu 4) Bhave experiment

8) ...... ZXrMo nmUr CngÊ¶mgmR>r ‘hmamï´> ~m§YV Agboë¶m {dS>u YaUmdê$Z ‘hmamï´> Am{U Jmodm ¶m§À¶mV g§Kf© {Z‘m©U
Pmbm Amho.
1) H$mgmS>u 2) H$miw§Ðr 3) dmid§Vr 4) JmT>r

8) A conflict has arisen between Maharashtra and Goa on Virdi Dam, which is being constructed by

Maharashtra to tap the water from ______ river.

1) Kasardi 2) Kalundri 3) Valvanti 4) Gadhi

9) 1000 Vo 4000 ‘rQ>a Imobrn ª̀V ngabobm gmJar àm§V ............. åhUyZ AmoiIbm OmVmo.
1) A°{~gmonobo{OH$ 2) ~m{Wnobo{OH$ 3) ‘ogmonobo{OH$ 4) `mn¡H$s Zmhr

9) The oceanic province extending from 1000 to 4000 meter depth is know as........

1) Abyssopelagic 2) Bathypelagic 3) Mesopelagic 4) None of these

10) OmJ{VH$ n¶©Q>Z {XZ 2023 Mr Wr‘ H$m¶ Amho?
1) "n¶©Q>Z Am{U gm§ñH¥${VH$ {d{dYVm" 2) "CÎm‘ CÚmgmR>r emœV n¶©Q>Z"
3) "n¶©Q>Z Am{U h[aV Jw§VdUyH$" 4) "n¶©Q>ZmVrb ZdrZ {j{VOo emoYUo"

10) What is the theme of World Tourism Day 2023 ?

1) ‘Tourism and Cultural Diversity’ 2) ‘Sustainable Tourism for a Better Tomorrow’

3) ‘Tourism and Green Investment’ 4) ‘Exploring New Horizons in Tourism’

11) ...... ¶m§nmgyZ {Vgè¶m {nT>rMo (WS>© OZaoeZ) ~m¶moBWoZm°b {‘iVo.
1) ImÚnXmW© AmYm[aV ImÚgmR>o 2) g‘{n©V D$Om© {nHo$
3) bmH$S>mMo Adeof 4) e¡dmb O¡d^ma

11) The third generation Bioethanol is obtained from ______.

1)  food based feed stocks 2) dedicated energy crops

3)  wood residue 4) algal biomass
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12) ImUH$m‘mMo n`m©daUmda hmoUmao Xwîn[aUm‘ amoIÊ`mgmR>r 1993 À`m ZdrZ ImU YmoaUmV Imbrbn¡H$s H$moUVo C{Ôï>
g‘m{dï> H$aÊ`mV Ambo?
1) CÚmoJm§Zm I{ZOm§Mm {Z`{‘V nwadR>m 2) gm‘m{OH$ dZrH$aU
3) g§emoYZmbm MmbZm Úm 4) gmd©O{ZH$ joÌmVrb ImUH$m‘

12)  In order to check adverse effects of mining on environment, which of the following objectives

was included in new mining policy of 1993 ?

1) Regular supply of minerals to industries 2) Social forestry

3) Promote research 4) Public sector mining

13) {dYmZ (I) : ""n¶m©daUr¶ g‘VmocmgmR>r XoemVrc EHy$U ŷ̂ mJmn¡H$s EH$-V¥Vr¶m§e ŷ̂ mJmda O§Jc Agco nm{hOo.""
{dYmZ (II) : ""^maV gaH$maZo amï´>r¶ dZ YmoaUmÀ¶m AmXoemÛmao 1952 gmcr darc gyMZm Ho$cr Amho.""
n¶m©¶r CÎmao :
1) {dYmZ (I) ho gË¶ Amho.2) {dYmZ (II) ho gË¶ Amho
3) XmoÝhr {dYmZo (I) A{U (II) ho gË¶ AmhoV 4) XmoÝhr {dYmZo (I) Am{U (II)  ho AgË¶ AmhoV.

13) Statement (I) : “The needs of ecological balance, the country should have a coverage of one-third

of the total area under forest.”

Statement (II) : “The National Forest Policy Resolution of the Government of India in 1952

recomménded above recommendation.”

Answer options :

1) Statement (I) is true. 2) Statement (II) is true.

3) Both statements (I) and (II) are true. 4) Both statements (I) and (II) are false.

14) AnKmV AmH$S>odmar, Amamo½` S>oQ>m, n`m©daUr` n¡by, à{ejU `mdarb àM§S> ‘m{hVr AmVm ghOnUo g§J«{hV Ho$br OmD$
eH$Vo, {díbofU Ho$br OmD$ eH$Vo, àgm[aV Ho$br OmD$ eH$Vo Am{U ì`dñWmnZmbm AMyH$ MIS gmXa H$aÊ`mgmR>r
dmnabr OmD$ eH$Vo, Or OHS ‘Yrb Jw§VdUyH$sMo n[aUm‘ Xe©dob. òWo MIS Mm AW© Amho:
1) ~mOmamVrb gh^mJmMr pñWVr 2) ì`dñWmnZ ‘m{hVr àUmbr
3) ì`dñWmnZ gh^mJmMr pñWVr 4) {dnUZ ‘m{hVr àUmbr

14) The huge amount of information on accident statistics, health data, environmental aspects, trainings

can, now, be easily stored, analysed, transmitted and used for presenting an accurate MIS to

management, which will show the results of investments in OH&S. Here MIS means:

1) Market Involvement Status 2) Management Information System

3) Management Involvement Status 4) Marketing Information System

15) Imbrbn¡H$s H$moUVr nrHo$ hr ‘mVrMr Yyn amoYH$ nrHo$ AmhoV?
a) Mdir Am{U ‘yJ b) Ádmar Am{U ~mOar c) ŵB©‘yJ Am{U CS>rX d) H$mnyg Am{U ‘H$m
n¶m©¶r CÎmao …
1) (a) Am{U (b) ’$º$ 2) (b) Am{U (c) ’$º$ 3) (a) Am{U (c) ’$º$ 4) (b) Am{U (d) ’$º$

15) Which of the following crops are soil erosion resisting crops ?

a) Cowpea and green gram b) Sorghum and pearl millet

c) Groundnut and black gram d) Cotton and maize

Answer Options :

1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (b) and (d) only
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16) dñVybm ñne© Z H$aVm, Ë¶m dñVy~ÔbMr ‘m{hVr {‘i{dVm ¶oVo, Ë¶m V§ÌkmZmbm ...... Ago åhUVmV.
a) Q>monmoJ«m’$s b) [a‘moQ> g|pÝg̈J c) {OAmoS>o{gH$ d) ’$moQ>moJ«m’$s
n¶m©¶r CÎmao …
1) (a) Am{U (c) XmoÝhr 2) (a) Am{U (b) XmoÝhr 3) ’$º$ (b) 4) (c) Am{U (d) XmoÝhr

16) The technology of acquisition of information about an object without making physical contact

with the object is known as ......

a) Topography b) Remote sensing c) Geodetic d) Photography

Answer Options :

1) (a) and (c) both 2) (a) and (b) both 3) Only (b) 4) (c) and (d) both

17) Imcrcn¡H$s H$moUVo g|{Ð¶ eoVrMo ’$m¶Xo AmhoV ?
a) eoVrVrc CËnmXH$Vm dmT>Vo. b) n¶m©daU g§VwcZ {Z‘m©U H$aUo
n¶m©¶r CÎmao :
1) (a) ~amo~a Amho 2) (b) ~amo~a Amho
3) (a) Am{U (b) ~amo~a Amho 4) darcn¡H$s H$moUVohr Zmhr

17) Which of the following are benefits of organic farming ?

a) Increases agricultural productivity b) Creating environmental balance

Answer options :

1) (a) is correct 2) (b) is correct

3) (a) and (b) are correct 4) None of above

18) 'XrZ~§Yy pñWa Kw‘Q> àmê$n', ho ...... Mo àmê$n Amho.
1) Yya{da{hV Myb 2) gm¡a ObVmnH$ 3) gm¡a ewîH$H$ 4) ~m¶moJ°g g§¶§Ì

18) ‘Deenbandhu fixed dome model’ is a model of ......

1) Smokeless chulha 2) Solar water heater 3) Solar dryer 4) Biogas plant

19) AUweº$s H|$ÐmVyZ {Z‘m©U hmoUmè¶m {H$aUmoËgJu KZ H$Mè¶mda ¶mo½¶ Vr à{H«$¶m Ho$ë¶mZ§Va ......
1) {ZAa ga’o$g {S>ñnmoOb ’°${g{bQ>rO‘Ü¶o Ë¶mMr {dëhodmQ> bmdbr OmVo.
2) S>rn ga’o$g {S>ñnmoOb ’°{g{cQ>rO‘Ü ò Ë¶mMr {dëhodmQ> bmdbr OmVo.
3) Vmo n¶m©daUmV gmoSy>Z {Xbm OmVmo.
4) à{H«$¶m H$ê$Z Ë¶mMm nwZdm©na Ho$bm OmVmo.

19) The radioactive solid waste generated from nuclear power plants after suitable conditioning is......

1) disposed off in near surface disposal facilities

2) disposed off in deep surface disposal facilities

3) discharged in the environment

4) recycled

20) ICZM Mm AW© Amho -
1) Am§Vaamï´>r` {H$Zmar joÌ ì`dñWmnZ 2) Am§Va^aVr {H$ZmanÅ>r joÌ ì`dñWmnZ
3) EH$mpË‘H$ H$moñQ> PmoZ ‘°ZoO‘|Q> 4) EH$mpË‘H$ H$moñQ>b PmoZ ‘°ZoO‘|Q>

20) ICZM stands for -

1) International Coastal Zone Management 2) Intertidal Coast Zone Management

3) Integrated Coast Zone Management 4) Integrated Coastal Zone Management
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21) H$moñQ>b A°¹$mH$ëMa AWm°[aQ>r~m~V `mo½` {dYmZ Am{U H$m }̀ {ZdS>m.
A) {H$Zmar ^mJmV ‘Ëñ`nmbZ ’$m‘©Mo ~m§YH$m‘ Am{U Am°naoeZgmR>r {Z`‘ ~ZdUo.
~) {H$Zmar ‘Ëñ`eoVr‘wio n`m©daUmda hmoUmam n[aUm‘ amoIÊ`mgmR>r H$moñQ>b A°¹$mH$ëMaMr VnmgUr H$aUo.
H$) H$moñQ>b A°¹$mH$ëMa ’$m‘©Mr Zm|XUr H$aUo.
S>) EImXo {H$Zmar ‘Ëñ`nmbZ ’$m‘© nmS>Uo/ Zï> H$aUo ~m~V AmXoe Omar H$aUo.
n¶m©¶r CÎmao …
1) A Am{U ~ {dYmZ ~amo~a AmhoV 2) ’$º$ A {dYmZ ~amo~a Amho
3) A, ~ Am{U S> {dYmZo ~amo~a AmhoV 4) darb gd© {dYmZo ~amo~a AmhoV

21) Choose the correct statement and functions of Coastal Aquaculture Authority.

a) To make regulations for the construction and operations of aquaculture farms within the coastal

areas.

b) To inspect coastal aquaculture farms with a view to contain their environment impact caused

by coastal aquaculture.

c) To register coastal aquaculture farms.

d) To perform /order removal or demolition of any coastal aquaculture farm.

Answer Options :

1) a and b statements are correct 2) only a statement is correct

3) a, b and d statements are correct 4) all of the above statements are correct

22) H$m§XidZ g§ajU d g§dY©Z {df¶rÀ¶m nwT>rb {dYmZm§n¡H$s gË¶ {dYmZo H$moUVr AmhoV ?
A) H$m§XidZ O§Jbo gmYmaUnUo g‘wÐ {H$Zmar, ImS>çm, ZXr‘wI d Imè¶m XbXbr‘Ü¶o AmT>iVmV.
~) H$m§XidZm‘wio H$m~©Z qgH$ hr g§H$ënZm CX¶mg Ambr.
H$) H$m§XidZo H$m~©Z S>m¶Am°³gmBS> emoYyZ àmUdm¶y XoVmV.
S>) H$m§XidZm§À¶m g§ajUmH$[aVm amÁ¶ gaH$maZo dZ{d^mJm§VJ©V 2012 ‘Ü¶o H$m§XidZ H$j ¶m ñdV§Ì H$jmMr {Z{‘©Vr
Pmbr Amho.
n¶m©¶r CÎmao …
1) A, ~, H$, S> 2) A, ~, H$ 3) A, ~, S> 4) A Am{U S>

22) Which of the following statements about Kandal forest protection and conservation are true?

a) Mangrove forests are generally found in coastal areas, creeks, estuaries and salt marshes.

b) The concept of carbon sink emerged due to Mangroves.

c) Mangroves produce oxygen by sequestering carbon dioxide.

d) For the protection of Mangrove forests, a separate cell called Mangrove Desk  has been created

by the State Government under the Forest Department in 2012.

Answer Options:

1) A, B, C, D 2) A, B, C 3) A, B, D 4) A and D

23) ^aVr-AmohmoQ>r‘wio hmoUmao nmÊ`mÀ`m nmVirVrb MT>-CVma, VgoM H$Mam H$mTy>Z Q>mH$Ê`mg Am{U AÞ Am{U nmofH$
KQ>H$m§Mr dmhVyH$ H$aÊ`mg hmoUmar ‘XV ¶m‘wio ............... hr Obg§ñWm AË §̀V CËnmXH$ AgVo.
1) ZXr 2) ImS>çm/‘wIàXoe 3) g‘wÐ 4) H$mbdm

23) The water body is highly productive due to higher fluctuation of water level, tides serving to

remove wastes and to transport food and nutrients.

1) River 2) Estuaries 3) Sea 4) Canal
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24) 1979 ‘Ü ò, H$moUVo gmJar CËnmXZ, ‘arZ àm°S>ŠQ> EŠgnmoQ>© S>oìhbn‘|Q> AWm°[aQ>rZo Am§Vaamï´>r` ~mOmamV Zì`mZo ñWmnZ
Ho$boë`m g§emoYZ Am{U CËnmXZ {dH$mg {d^mJm§VJ©V gmXa Ho$bo ?
A) JmoR>bobm IoH$S>m ~) H$ƒo Am{U {eOdbobo H$moi§~r
H$) nm§T>è`m nm`mMr H$moi§~r S>) JmoR>dbobm {Vcm{n`m
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) ’$º$ H$ 4) ’$º$ S>

24) In 1979, which product is introduced by Marine Product Export Develop[ment Authority in

International Market under newly established research and product development division ?

a) Frozen crab b) Raw and cooked head-on-shrimp

c) White leg shrimp d) Frozen tilapia

Options :

1) Only a 2) Only b 3) Only c 4) Only d

25) '~m°Q>‘-An' Am{U 'Q>m°n-S>mCZ' hr g§km H$emMo {Z §̀ÌU H$aÊ`mgmR>r dmnabr OmVo ?
1) {eH$mar ‘mgo 2) Phytoplankton 3) Pyßb±ŠQ>Z 4) VUZmeH$ ‘mgo

25) The term 'bottom-up' and 'top-down' effect is used to control.

1) Predatory fishes 2) Phytoplankton 3) Zooplankton 4) Weedy fishes

26) ~m`moâbm°H$-AmYm[aV ‘Ëñ`nmbZ àUmbrÀ`m g§X^m©V Imbrbn¡H$s H$moUVo {dYmZ/{dYmZo `mo½` Amho/AmhoV?
a) Vo VwbZoZo O¡dgwa{jV, A{YH$ n`m©daUr`Ñï²>`m gm¡å` Am{U Am{W©H$Ñï²>`m {Q>H$mD$ ‘Ëñ`nmbZ àUmbr àXmZ H$aVo.
b) {Vbm{n`m Am{U H$moi§~r ho Z¡g{J©H$ ‘Ëñ`nmbZ àUmbr‘Ü ò CËnmXH$Vm d¥ÕrMm ’$m`Xm KoÊ`mgmR>r `mo½` AmhoV.
c) ho Vbmd, Q>mŠ`m qH$dm {d{dY ñHo$bÀ`m Obàdmhm‘Ü ò Cn¶wº$ hmoD$ eH$Vo.
d) ~m`moâbm°H$Ûmao Vbmd qH$dm ObàdmhmVrb ‘mgo‘marMo A{VàH${f©V CËnmXZmg MmbZm {‘iy eH$Vo.
n¶m©¶r CÎmao …
1) a, b Am{U c ~amo~a AmhoV 2) b, c Am{U d ~amo~a AmhoV
3) a, b Am{U d ~amo~a AmhoV 4) a, c Am{U d ~amo~a AmhoV

26) State which of the following statement/statements is/are correct regard to biofloc-based

aquaculture systems ?

a) It provide comparatively biosecure, more environmentally benign and financially sustainable

aquaculture system.

b) Tilapia and shrimps are well suited to take advantages of natural productivity in aquaculture

systems.

c) It can be applied in ponds, tanks or raceways of various scale.

d) It targets super-intensive production of fishers in tanks or raceways.

Options :

1) a, b and c are correct 2) b, c and d are correct

3) a, b and d are correct 4) a, c and d are correct
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27) ‘Ëñ`nmbZ nÕVr Ë`m§À`m nÕVter Owidm.
a) g§{‘l ‘Ëñ`g§dY©Z i) H$‘rV H$‘r nmÊ`mÀ`m XodmUKodmUrgh {Vbm{n`mMo gKZ g§dY©Z, Omo‘Xma

dm ẁdrOZmMr VaVyX Am{U  C/N  à‘mU 10 nojm OmñV amIUo.
b) A°¹$mnmo{ZŠg ii)  H$Q>bm, amohÿ Am{U ‘¥Jb `m§Mo CËnmXZ
c) ~m`moâbm°H$ {gpñQ>‘ iii) hm`S´monmo{ZŠggh EH$ÌrH$aUmV [a{H«$Š ẁboQ>ar A°¹$mH$ëMa {gñQ>‘‘Ü ò

{Vbm{n`mMo CËnmXZ
d) EH$mpË‘H$ ‘ëQ>rQ´m°{’$H$ iì)  gmJar ‘mem§Mo qnOè¶mV CËnmXZ+ g‘wÐr VUmMo Mo CËnmXZ+ Am°̀ ñQ>a/

qenë¶m§Mo CËnmXZ
n¶m©¶r CÎmao …

(a) (b) (c) (d)
1) ii iv iii i
2) iv iii ii i
3$) ii iii i iv

4) i ii iii iv

27) Match the fish culture systems with their practices.

a) Composite fish culture i) Intensive culture of tilapia with minimal water exchange,

provision of vigorous aeration and maintaining C/N ratio

above 10.

b) Aquaponics ii) Culture of catla, rohu and mrigal

c) Bioflocsystem iii) Tilapia culture in recirculatory aquaculture system in

integration with hydroponics

d) Integrated Multitrophic iv) Cage culture of marine fish + sea weed culture + oyster/

mussel culture.

Answer Options :

(a) (b) (c) (d)

1) ii iv iii i

2) iv iii ii i

3$) ii iii i iv

4) i ii iii iv

28) Joë¶m AZoH$ XeH$m§V A XoemH$Sy>Z B XoemZo ~Zdcoë¶m dmhZm§Mr ‘mJUr dmT>cr Amho. ‘mÌ  A XoemZo ~Zdcoë¶m dmhZm§Mr
B XoemH$Sy>Z hmoUmar ‘mJUr JmoR>cocr Amho. B À¶m CËnmXH$m§H$S>o daMT> àm¡Úmo{JH$s Agë¶m‘wio gwédmVrcm hr V’$mdV
ñdrH$mamh© hmoVr d Ë¶mVyZ B§YZ-H$m¶©j‘, ñdñV XoI^mcrÀ¶m dmhZm§Mo CËnmXZ Pmco. dmñVdmV AmVm A Mr dmhZo ¶m
JwUm§g§X^m©V, qH${MVerhr OmñV Mm§Jcr Zgcr Var VwcZoZo Odinmg gmaIrM AmhoV.  B XoemMo MmcH$ añË¶m§À¶m
S>mì¶m ~mOyZo dmhZo MmcdVmV ¶m ~m~rMr XIc KoÊ¶mV A XoemMo CËnmXH$ An¶er R>aco AmhoV. ì¶mnmamVrc ho Ag§VwcZ
H$‘r H$aÊ¶mcm hmV^ma cmJÊ¶mgmR>r A XoemÀ¶m CËnmXH$m§Zr COì¶m ~mOyMr diU MH«o$ Agcocr A{YH$ dmhZo CËnm{XV
H$am¶cm hdrV ho ñnï> Amho.
n¶m©¶r CÎmao :
1) Oa A  Xoe COì¶m diU MH«$mMr dmhZo ~Zdoc, Va B  XoemMo  J«mhH$ A XoemH$Sy>Z dmhZo IaoXr H$aUo ng§V H$aVrc.
2)  B XoemMo J«mhH$ añË¶mÀ¶m S>mì¶m ~mOyZo dmhZo MmcdV AgVrc, Va dmhZmÀ¶m S>mì¶m ~mOycm diU MH«$ ~gdcocr

dmhZo IaoXr H$aÊ¶mH$S>o ¶m J«mhH$m§Mm H$c H$‘r AgUma.
3)  A  Xoe ñdV:À¶m dmhZm§Mr B§YZ-H$m¶©j‘Vm dmT>dUo d Ë¶m§Mm XoI^mc IM© KQ>dUo ¶m gwYmaUm H$aUo Mmcy R>odoc.
4) ñdV:À¶m gd© ZmJ[aH$m§Zr COdr diU MH«o$ Agcocr dmhZo IaoXr H$amdrV ho B XoemÀ¶m àemgZmcm hdo Amho.
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28) Over the last several decades, the demand for Country B's automobiles increased in Country A

but demand for Country A's automobiles in Country B has remained stagnant. Initially, this disparity

was plausibly due to B's  manufacturers having superior technology, which has yielded more fuel

efficient cars with cheaper maintenance. However, now Country A's cars are comparable - if not

slightly superior - in these respects. Country A's manufacturers fail to acknowledge that Country

B's drivers drive on the left-side of the road. Clearly, to help lessen this trade imbalance, Country

A manufacturers should produce more cars with right-side steering wheels.

Select the one of the following which is an ssumption made by the argument.

1) If Country A makes automobiles with right-side steering wheels, most consumers from Country

B will chose to purchase a car from Country A.

2) If consumers from Country B drive on the left-side of the road, these consumers are less

inclined to buy steering wheels found on the lef-side of the car.

3) Cars from Country A will continue to improve their fuel efficiency and reduce their maintenance

costs.

4) The government of Country B requires all its citizens to purchase cars with right-side steering wheels.

OmJ{VH$ n¶m©daU n[afXm

1) g§¶wº$ amï´>mMr 27 dr OmJ{VH$ hdm‘mZ ~Xb n[afX H$moR>o Am¶mo{OV H$aÊ¶mV Ambr hmoVr?
1) B{Oá 2) a{e¶m 3) O‘©Zr 4) BQ>br

1) Where was the United Nations 27" World Climate Change conference held ?

1) Egypt 2) Russia 3) Germany 4) Italy

2) n¶m©daU A{YdoeZ/n[afX Am{U df© ¶m§À¶m OmoS>çm bmdm.
n¶m©daU A{YdoeZ/n[afX      df©
a) am‘ga i) 1979

b) pìhEÞm i) 1971

c) {‘{Z‘mQ>m iii) 1985

d) ~m°Z iv) 2013

n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (iii) (ii) (i) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (i) (ii) (iii)

2) Match the environment conventions and year.

Environment conventions Year

a) Ramsar i) 1979

b) Vienna i) 1971

c) Minimata iii) 1985

d) Bonn iv) 2013

Answer Option :
(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)
2) (iii) (ii) (i) (iv)
3) (i) (ii) (iii) (iv)

4) (iv) (i) (ii) (iii)
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3) à¶ËZm§À¶m H|$Ð^mJr bmoH$m§Zm R>odUmè¶m, "2030 emœV {Q>H$mD$ {dH$mg {df¶n{ÌH$m' amï´>g§KmÀ¶m (UN) gXñ¶ amï´>m§Zr
H$Yr ñdrH$macr ?
1) gßQ>|~a, 2015 2) ‘mM©, 1995 - World Summit for S.D

3) OyZ, 2000, {O{Zìhm UNGA Session 4) darbn¡H$s Zmhr
3) When did the UN member states adopt ‘2030 Agenda for sustainable Development’ which put

people at the centre of efforts ?

1) September, 2015 2) March, 1995 - World Summit for §.D

3) June, 2000 , Geneva UNGA Session 4) None of the above

4) dmVmdaU cdMrH$ AZwHy$b eoVr àH$ënmMr g§H$ënZm ‘hmamï´> emgZ Am{U OmJ{VH$ ~±Ho$Zo ñdrH$mabr Amho. àH$ënmMo
bú¶ Amho …
a) H¥$frgmR>r Q>§MmB© à{V~§YH$ Am{U dmVmdaU cdMrH$ aUZrVr {dH$grV H$aUo.
b) dmVmdaU ~Xb KQ>H$ Am{U n[adV©ZmMm gm‘Zm H$aUo.
c) J«m‘ñVa {dH$mg ¶moOZm, gImob VÏ¶mYm[aV gyú‘ {Z¶moOZmZ§Va ApñVËdmV AmUÊ¶mda bj H|$Ðr¶ H$aUo.
d) ‘hmamï´>mVrb Aën ŷYmaH$ H¥$fr ì¶dñWoMm bm^ gw{ZpíMV H$aUo.
e) Aën ŷYmaH$ eoVH$ar, eoVH$ar CËnmXH$ g§KQ>Zm/H§$nZr, ñd¶§ghmæ¶Vm JQ> Am{U J«m‘ g‘wXm¶mbm AmYma XoUo.
n¶m©¶r CÎmao
1) (a) Am{U (b) 2) (b) Am{U (c) 3) darb gd© 4) (d)

4)  The project on climate Resilient Agriculture was conceptualised by the Government of

Maharashtra and the World Bank. The project aims at -

a) Developing a drought-proofing and climate resilient strategy for agriculture.

b) Coping with climate variabilities and climate change.

c) Focusing on village level development plan emerging after comprehensive data-driven micro

planning.

d) Ensuring profitability of small holder farming systems in Maharashtra.

e) Supporting small farmers, FPOs, farmer producer companies, SHGS and village community.

Answer Options :

1) {a) and (b) 2) (b) and (c) 3)  All of the above 4)  (d)

5) g§¶wº$ amï´>o {dH$mg H$m¶©H«$‘mMo ‘w»¶ bú¶ H|${ÐV joÌo AmhoV …
a) ‘mZdr h¸$ d {dÎmr¶ {dH$mg b) hdm‘mZ d AmnÎmr bd{MH$Vm
c) bmoH$emhr emgZ d em§VVm {Z‘m©U d) emídV {dH$mg
n¶m©¶r CÎmao …
1) ’$º$ (a), (b), (c) 2) ’$º$ (a), (b), (d) 3) ’$º$ (a), (c), (d) 4) ’$º$ (b), (c), (d)

5) The United Nations Development Programme (UNDP) concentrated main focus areas are ............

(a) Human Rights and financial development (b) Climate and disaster resilience

(c) Democratic governance and peace building (d) Sustainable Development

Answer Options :

1) Only (a), (b), (c) 2) Only (a), (b), (d) 3) Only (a), (c), (d) 4) Only (b), (c), (d)
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6) 'am‘ga A{YdoeZ' ...... ¶mMo g§dY©Zmer g§~§{YV Amho.
1) Amoë¶m O{‘Zr 2) njm§À¶m bwáàm¶ àOmVr
3) dÝ¶àmÊ¶m§À¶m bwáàm¶ àOmVr 4) darbn¡H$s H$mhrhr Zmhr

6) The ‘Ramsar convention’ deals with conservation of ......

1) Wet Lands 2) Endangered species of birds

3) Endangered species of animais 4) None of the above

BAm¶E

1) 14 gßQ>|~a 2006 amoOr n`m©daUr` à^md ‘yë`m§H$Z (EIA) A{YgyMZo A§VJ©V, Imbrb àH$ënm§gmR>r EIA V`ma H$aUo
Amdí`H$ Zmhr :
1) loUr 'A' àH$ën 2) loUr 'B' àH$ën 3) loUr 'B

1
' àH$ën 4) loUr 'B

2
' àH$ën

1) Under the Environmental Impact Assessment (EIA) notification on 14th September 2006,

preparation of EIA is NOT required for the projects falling in the :

1) Category ‘A’ Projects 2) Category ‘B’ Projects

3) Category ‘B
1
’ Projects 4) Category ‘B

2
’ Projects

2) EH$ {dñVma Ñï>rH$moZ Omo ñWm{ZH$ bmoH$m§Zm Ë`m§Mo kmZ Am{U amhUr‘mZmMo {Z`moOZ Am{U H¥$Vr H$aÊ`mgmR>r gm‘m{`H$
H$aÊ`mg, d{Y©V H$aÊ`mg Am{U {díbofU H$aÊ`mg gj‘ H$aVo:
1) ObX J«m‘rU ‘yë`m§H$Z 2) gh^mJr J«m‘rU ‘yë`m§H$Z
3) g‘mOdmX {ZX}em§H$ 4) g§aMZmË‘H$ {dí²bofU

2) An extension approach that enables local people to share, enhance and analyse their knowledge

and living condition to plan and act is :

1) Rapid Rural Appraisal 2) Participatory Rural Appraisal

3) Socialism Index 4) Structural Analysis

3) ^m¡Jmo{bH$ ‘m{hVr àUmbr H$moUË`m àH$maÀ`m S>oQ>mer g§~§{YV Amho?
1) g§»`mË‘H$ S>oQ>m 2) O{Q>b S>oQ>m 3) ~m`Zar S>oQ>m 4) AdH$mer` S>oQ>m

3) Geographic Information System deals with which kind of data ?

1) Numeric data 2) Complex data 3) Binary data 4) Spatial data

4) ŷ‘rg§nmXZ, nwZd©gZ Am{U nwZd©gmhV H$aVmZm C{MV ZwH$gmZ ^anmB© Am{U nmaXe©H$VoMm h¸$ A{Y{Z¶‘ 2013
A§VJ©V, Aën ŷYmaH$ eoVH$ar åhUOo EH$-AYm© hoŠQ>an ª̀V ~mJm`V qH$dm ~mJm`Vr O‘rZ AgUmam eoVH$ar.
1) XmoZ hoŠQ>a 2) EH$ hoŠQ>a 3) nmM hoŠQ>a 4) Xhm hoŠQ>a

4) Under the Right to Fair Compensation and Transparency Land Acquisition, Rehabilitation and

Resettlement Act, 2013, marginal farmer means a cultivator with an unirrigated land holding up

to or irrigated land holding up to one-half hectare.

1) two hectares 2) one hectare 3) five hectares 4) ten hectares

5) ŷ‘rg§nmXZ, nwZd©gZ Am{U nwZd©gmhV H$aVmZm C{MV ZwH$gmZ ̂ anmB© Am{U nmaXe©H$VoMm h¸$ A{Y{Z¶‘ 2013 À`m
VaVwXrZwgma, ~mOma ‘yë` {Z{íMV H$aÊ`mMr VmarI Agob :
1) H$b‘ 25 A§VJ©V nwañH$ma Kmo{fV H$aÊ`mMr VmarI 2) H$b‘ 19 AÝd ò KmofUoÀ`m àH$meZmMr VmarI
3) H$b‘ 11 A§VJ©V Omar Ho$boë`m A{YgyMZoMr VmarI 4) O{‘ZrMm Vm~m à{gÕ Pmë`mMr VmarI
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5) Under provision of the Right to Fair Compensation and Transparency in Land Acquisition,

Rehabilitation And Resettlement Act 2013, the date of determination of market value shall be :

1)  the date of declaration of award under Section 25

2)  the date of publication of the declaration under Section 19

3)  the date of notification issued under Section 11

4)  the date of publication of possession of land

6) ŷ‘rg§nmXZ, nwZd©gZ Am{U nwZd©gmhV H$aVmZm C{MV ZwH$gmZ ^anmB© Am{U nmaXe©H$VoMm h¸$ A{Y{Z¶‘ 2013
Zwgma, ZmJarH$aUmgmR>r O‘rZ g§nm{XV Ho$br OmVo Voìhm, àË òH$ O‘rZ ‘mbH$sÀ`m àH$ënJ«ñV Hw$Qw>§~mbm {H$Vr nwZd©gZ
Am{U nwZd©gZ h¸$ {Xbo OmVrb?
1) {H$‘mZ 1 hoŠQ>a O‘rZ
2) g§nm{XV Ho$boë`m O{‘ZrÀ`m à‘mUmV {dH${gV O{‘ZrÀ`m 20%
3) g§nm{XV Ho$boë`m O{‘ZrÀ`m à‘mUmV {dH${gV O{‘ZrÀ`m 12.5%
4) g§nm{XV Ho$boë`m O{‘ZrÀ`m à‘mUmV 25% {dH${gV O‘rZ

6) According to the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation

and Resettlement Act, 2013, when a land is acquired for urbanisation purposes, how much

rehabilitation and resettlement entitlements would be given to each land-owning project-affected

family?

1) Minimum 1 hectare of land

2) 20% of the developed land in proportion to the land acquired

3) 12.5 % of the developed land in proportion to the land acquired

4) 25% of the developed land in proportion to the land acquired

7) ŷ‘rg§nmXZ, nwZd©gZ Am{U nwZd©gmhV H$aVmZm C{MV ZwH$gmZ ^anmB© Am{U nmaXe©H$VoMm h¸$ A{Y{Z¶‘ 2013
Zwgma, gmd©O{ZH$ H$maUm§gmR>r ImOJr H§$nÝ`m§gmR>r O‘rZ g§nm{XV Ho$br OmVo Voìhm O‘rZ g§nmXZ H$aÊ`mnydu ......
~m{YV Hw$Qw>§~m§Mr {H$‘mZ Q> o̧$dmar Amdím`H$ AgVo.
1) 50% 2) 60% 3) 75% 4) 80%

7) According to Land Acquisition, Rehabilitation and Resettlement Act 2013, when land is acquired

for private companies for public purposes consent of a ...... minimum percentage of affected

families is required before acquiring land.

1) 50% 2) 60% 3) 75% 4) 80%

8) ŷ‘rg§nmXZ, nwZd©gZ Am{U nwZd©gmhV H$aVmZm C{MV ZwH$gmZ ^anmB© Am{U nmaXe©H$VoMm h¸$ A{Y{Z¶‘ 2013
‘Yrb H$b‘ 19 Zwgma  KmofUm àH$m{eV Pmë`mnmgyZ {Oëhm{YH$mar H$moUË`m H$mbmdYrV ^anmB© Omhra H$aob?
1) 6 ‘{hZo 2) 12 ‘{hZo 3) 18 ‘{hZo 4) 24 ‘{hZo

8) What the period within which the Collector shall make an award from the date of publication of

declaration under Section 19 of the Right to Fair Compensation and Transparency in Land

Acquisition, Rehabilitation and Resettlement Act, 2013?

1) 6 months 2 )12 months 3) 18 months 4) 24 months
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9) LARR 2013 Mo H$moUVo H$b‘ ŷg§nmXZmgmR>r àmW{‘H$ A{YgyMZoMo àH$meZ Am{U Ë`mZ§Va A{YH$m`mªMo A{YH$ma
er g§~§{YV Amho?
1) H$b‘ 09 2) H$b‘ 11 3) H$b‘ 15 4) H$b‘ 37

9) Which section of LARR 2013 deals with the “Publication of preliminary notification and power

of officers thereupon” for land acquisition?

1) Section 09 2) Section 11 3) Section 15 4) Section 37

10) 'nwZd©gZ Am{U nwZd©gZ g{‘Vr' ñWmnZ Ho$br OmVo Ooìhm gaH$maZo g§nm{XV H$amd`mMr O‘rZ Imbrbà‘mUo qH$dm
Ë`mnojm OmñV Agob …
1)  50 EH$a 2) 75 EH$a 3) 80 EH$a 4) 100 EH$a

10) A ‘Rehabilitation and Resettlement Committee’ is formed when the land to be acquired by

government is equal to or more than :

1) 50 acres 2) 75 acres 3) 80 acres 4) 100 acres

11) n`m©daU ì`dñWmnZmer g§~§{YV Imbrbn¡H$s H$moUVr ‘mZHo$ ApñVËdmV AmhoV Or g§ñWm§Zm Ë`m§Mo n`m©daUmda
ZH$mamË‘H$ n[aUm‘ H$aUmao H$m ©̀ H$‘r H$aÊ`mV ‘XV H$aVmV?
1) ISO 8000 2) ISO 11000 3) ISO 14000 4)ISO 6000

11) Whic h of the following standards related to environmental management that exists to help

organizations minimise their operations that negatively affect the environment?

1) ISO 8000 2) ISO 11000 3) ISO 14000 4) ISO 6000

12) B§Q>aZ°eZb Q´m°{nH$b qQ>~a Am°J©Zm`PoeZ (ITTO) Mo ‘w»`mb` òWo Amho:
1) ~moJmoa, B§S>moZo{e`m  2) Z¡amo~r, Ho${Z`m 3) b§S>Z, ỳHo$ 4) `moH$mohm‘m, OnmZ

12) The International Tropical Timber Organization (ITTO) has its headquarters in :

1) Bogor, Indonesia 2) Nairobi, Kenya 3) London, UK 4) Yokohama, Japan

13) LARR H$m`Xm 2013 A§VJ©V O{‘ZrMo ~mOma ‘yë` H$moU R>adVo?
1) {Oëhm{YH$mar 2) ‘§S>i A{YH$mar 3) VhgrbXma 4) ‘Znm Am ẁº$

13) Who determines the market value of land under the LARR Act 2013?

1) Collector 2) Circle officer

3)  Tehsildar 4) Municipal Commissioner

14) ŷg§nmXZ H$aVmZm O{‘ZrÀ`m ‘mo~Xë`mMr JUZm H$aVmZm Imbrbn¡H$s H$moUVo ‘wÔo {dMmamV KoVbo OmV ZmhrV?
1) dmOdr ^anmB© 2) nmaXe©H$Vm 3) gmd©O{ZH$ Amamo½` 4) nwZd©gZ Am{U nwZd©gZ

14) While calculating the compensation of the land during acquisition, which of the following issues

is NOT taken into account?

1) Fair compensation 2) Transparency

3) Public health 4) Resettlement and rehabilitation
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15) LARR H$m`Xm 2013 À`m g§X^m©V, 'gmob°{Q>`‘' `m eãXmMm AW© H$m` Amho?
1) g§nmXZ à{H«$ òXaå`mZ {Oëhm{YH$mè`m§Mo Ý`m{`H$ A{YH$ma
2) O‘rZ g§nmXZ H$aÊ`mMr amÁ`mMr eº$s
3) O{‘Zrda ‘mbH$m§Mm A{d^mÁ` A{YH$ma
4) ZwH$gmZ ^anmB© ì`{V[aº$ O‘rZ ‘mbH$m§Zm àXmZ Ho$bobo no‘|Q>

15) With reference to the LARR Act 2013, what is the meaning of the term ‘Solatium’

1)  The judicial powers of collector during the process of acquisition

2)  The power of the state to acquire land

3)  The inalienable right of owners to land

4)  The payment provided to landowners in addition to compensation

16) {dH$mgmgmR>r O{‘Zrda Vm~m H$aÊ`mMo doJdoJio ‘mJ© H$moUVo AmhoV?
1) O‘rZ ‘mbH$s 2) ŷg§nmXZ 3) O‘rZ A{VH«$‘U 4) O‘rZ gmoS>Uo

16) What are the different ways to access land for development?

1) Land ownership 2) Land acquisition 3) Land encroachment 4)  Land leaving

17) ŷ‘rg§nmXZ, nwZd©gZ Am{U nwZd©gmhV H$aVmZm C{MV ZwH$gmZ ̂ anmB© Am{U nmaXe©H$VoMm h¸$ A{Y{Z¶‘ 2013 À`m
g§X^m©V {Oëhm{YH$mar qH$dm àm{YH$aUmg Omo A{YH$ma {Xbobm Amho Ë`m g§X^m©V ŷg§nmXZmer g§~§{YV H$moUË`mhr
{ddmXmMo {ZamH$aU H$aÊ`mMo A{YH$ma H$moUmbm AmhoV?
1) {Oëhm Ý`m`mb`mMo d[að> {d^mJ Ý`m`mYre
2) {Oëhm Ý`m`mb`mÀ`m H${Zð> {d^mJr` Ý`m`mYrem§Zm d[að> {Oëhm Ý`m`mYrem§À`m A{YH$majoÌmÀ`m AYrZ ‘ZmB©

AmXoe XoÊ`mMm A{YH$ma Amho.
3) ‘m. Cƒ Ý`m`mb` qH$dm ‘m. gdm}ƒ Ý`m`mb`
4) {XdmUr Ý`m`mb`

17) Who has jurisdiction to entertain any dispute relating to land acquisition in respect of which the

Collector or the Authority is empowered by or under the Right to Fair Compensation and

Transparency in Land Acquisition, Rehabilitation And Resettlement Act, 2013?

1)  Senior Division Judge of the District Court

2)  Junior Division Judge of the District Court having the power to grant injunction subject to

jurisdiction by the Senior District Judge

3)  Hon. High Court or Hon. Supreme Court

4)  Civil Court

18) ŷ‘rg§nmXZ, nwZd©gZ Am{U nwZd©gmhV H$aVmZm C{MV ZwH$gmZ ^anmB© Am{U nmaXe©H$VoMm h¸$ A{Y{Z¶‘ 2013, hm
......, ...... Am{U nwZd©gZmgmR>rMm EH$ EH$sH¥$V H$m`Xm Amho.
1) ^anmB©, nwZd©gZ 2) {dñWmnZ, nwZd©gZ
3) ^anmB©, {dñWmnZ 4) CnOr{dHo$Mr ^anmB©, {dñWmnZ

18) The Right to Fair Compensation and Transparency in Land Acquisition, Resettlement, and

Rehabilitation Act, 2013 is a unified legislation for ......, ...... and rehabilitation.

1)  compensation, resettlement 2) displacement, resettlement

3)  compensation, displacement 4) compensation of livelihoods, displacement
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19) ŷ‘rg§nmXZ, nwZd©gZ Am{U nwZd©gmhV H$aVmZm C{MV ZwH$gmZ ̂ anmB© Am{U nmaXe©H$VoMm h¸$ A{Y{Z¶‘ 2013 À`m
H$b‘ 4 A§VJ©V gm‘m{OH$ à^md ‘yë`m§H$Z Aä`mgmMr V`mar Ho$ìhm Amdûm`H$ Amho?
1) Ooìhm nwZd©gZmMm AmXoe {Xbm OmVmo
2) emgZ nwZd©gZmMo AmXoe XoV AgVmZm
3) Ooìhm `mo½` gaH$ma gmd©O{ZH$ CÔoemgmR>r O‘rZ g§nm{XV H$aÊ`mMm {dMma H$aVo
4) Ooìhm ^anmB© {Z{íMV H$am`Mr AgVo

19) When is the preparation of social impact assessment study required under Section 4 of the Right

to Fair Compensation and Transparency Land Acquisition, Rehabilitation and Resettlement Act,

2013?

1) When the resettlement is ordered

2)  When the Government is ordering rehabilitation

3) Whenever the appropriate Government intends to acquire land for a public purpose

4)  When the compensation is to be determined

20) ŷ‘rg§nmXZ, nwZd©gZ Am{U nwZd©gmhV H$aVmZm C{MV ZwH$gmZ ^anmB© Am{U nmaXe©H$VoMm h¸$ A{Y{Z¶‘ 2013
A§VJ©V ~m{YV Hw$Qw>§~m§gmR>r nwZd©gZ Am{U nwZd©gZ nwañH$ma H$moU nm[aV H$ê$ eH$Vmo?
1) {Oëhm{YH$mar 2) X§S>m{YH$mar 3) amÁ` gaH$ma 4) Am ẁº$

20) Who can pass Rehabilitation and Resettlement Awards for affected families under the Right to

Fair Compensation and Transparency Land Acquisition, Rehabilitation and Resettlement Act,

2013?

1) The Collector 2) The Magistrate 3) The State Government 4) The Commissioner

21) ŷ‘rg§nmXZ, nwZd©gZ Am{U nwZd©gmhV H$aVmZm C{MV ZwH$gmZ ̂ anmB© Am{U nmaXe©H$VoMm h¸$ A{Y{Z¶‘ 2013 À¶m
H$b‘ 11(1) A§VJ©V A{Ygy{MV Ho$boë`m H$moUË`mhr O{‘ZrgmR>r Amjon Zm|XdÊ`mMr doi {H$Vr Amho?
1) 30 {Xdg 2) 60 {Xdg 3) 45 {Xdg 4) 15 {Xdg

21) What is the time limit for filing an objection for any land notified under Section 11(1) from the

preliminary notification under the Right to Fair compensation and Transparency in Land Acquisition,

Rehabilitation and Resettlement Act, 2013?

1) 30 days 2) 60 days 3) 45 days 4) 15 days



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb  / 29

For Private Circulation OnlyFor Private Circulation Only

CÎmao - 5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)

1) n[apñW{VH$s  (2)

1) BH$mo{gñQ>‘ - D$Om© {na°{‘S>, AÞ gmIir Am{U Omio, gm{hË` MH«$

BH$mo{gñQ>‘

1-1 2-1 3-1 4-1 5-1 6-1 7-4 8-2 9-4 10-4
11-1 12-1

D$Om© {na°{‘S>, AÞ gmIir Am{U Omio

1-2 2-3 3-2 4-2

gm{hË` MH«$

1-1 2-3 3-4 4-2

2) n`m©daUr` Ag§VwbZ, g§dY©Z, OmJ{VH$ n¶m©daU n[afXm, BAm¶E

n`m©daUr` Ag§VwbZ

1-4 2-4 3-4 4-2 5-2 6-3 7-3 8-1 9-4 10-3
11-3 12-2 13-4 14-2 15-3 16-2 17-3 18-2 19-2 20-4
21-4 22-3 23-2

n`m©daU g§dY©Z

1-3 2-4 3-4 4-4 5-3 6-4 7-2 8-3 9-2 10-3
11-4 12-2 13-3 14-2 15-3 16-3 17-3 18-4 19-1 20-4
21-4 22-1 23-2 24-2 25-2 26-1 27-3
28-3

OmJ{VH$ n¶m©daU n[afXm

1-1 2-1 3-1 4-3 5-4 6-1

BAm¶E

1-4 2-2 3-4 4-2 5-3 6-1 7-4 8-2 9-2 10-4
11-3 12-4 13-1 14-3 15-4 16-2 17-3 18-1 19-3 20-1

21-2


